
FUNDAMENTALS OF COMPUTERS
Question Bank & Answer Key


43. Which programming languages are classified as low level languages?
a. BASIC, COBOL, Fortran b. Prolog
c. C, C++ d. Assembly languages 44. Which of the following is not anti- viruses’ software?
a. NAV b. F-Prot
c. Oracle d. McAfee
45. Which device is required for the Internet connection?
a. Joystick b. Modem
c. CD Drive d. NIC Card
46. What does DMA stand for?
a. A. Distinct Memory Access b. Direct Memory Access
c. Direct Module Access d. Direct Memory Allocation
47. Which of the following is a storage device?
a. Tape b. Hard Disk
c. Floppy Disk d. All of the above
48. When did John Napier develop logarithm?
a. 1416 b. 1614
c. 1641 d. 1804
49. A normal CD- ROM usually can store up to _________ _data?
a. 680 KB b. 680 Bytes
c. 680 MB d. 680 GB
50. MIS is designed to provide information needed for effective decision making by?
a. Consumers b. Workers
c. Foremen d. Managers
51. What is a light pen?
a. Mechanical Input device b. Optical input device
c. Electronic input device d. Optical output device
52. BCD is
a. Binary Coded Decimal b. Bit Coded Decimal
c. Binary Coded Digit d. Bit Coded Digit
53. ASCII stands for
a. American Stable Code for International Interchange
b. American Standard Case for Institutional Interchange
c. American Standard Code for Information Interchange
d. American Standard Code for Interchange Information

54. Which of the following is first generation of computer?
a. EDSAC b. IBM-1401 c. CDC-1604 d. ICL-2900
55. Chief component of first generation computer was
a. Transistors b. Vacuum Tubes and Valves
c. Integrated Circuits d. None of above
56. FORTRAN is
a. File Translation b. Format Translation
c. Formula Translation d. Floppy Translation
57. EEPROM stands for
a. Electrically Erasable Programmable Read Only Memory
b. Easily Erasable Programmable Read Only Memory
c. Electronic Erasable Programmable Read Only Memory
d. None of the above
58. Second Generation computers were developed during
a. 1949 to 1955 b. 1956 to 1965
c. 1965 to 1970 d. 1970 to 1990
59. The computer size was very large in
a. First Generation b. Second Generation
c. Third Generation d. Fourth Generation
60. Microprocessors as switching devices are for which generation computers
a. First Generation b. Second Generation
c. Third Generation d. Fourth Generation
61. Which of the following devices can be sued to directly image printed text?
a. OCR b. OMR
c. MICR d. All of above
62. The output quality of a printer is measured by
a. Dot per inch b. Dot per sq. inch
c. Dots printed per unit time d. All of above
63. In analogue computer
a. Input is first converted to digital form b. Input is never converted to digital form
c. Output is displayed in digital form d. All of above
64. In latest generation computers, the instructions are executed
a. Parallel only b. Sequentially only
c. Both sequentially and parallel d. All of above 

Answer :
43 d 97 c 151 a 205 a
44 c 98 a 152 c 206 b
45 b 99 a 153 b 207 d
46 b 100 a 154 a 208 d
47 d 101 b 155 b 209 b
48 b 102 c 156 b 210 c
49 c 103 c 157 b 211 d
50 d 104 d 158 d 212 d
51 b 105 c 159 c 213 d
52 a 106 d 160 d 214 d
53 c 107 a 161 b 215 a
54 a
55 b 109 d 163 c 217 c
2 b 56 c 110 a 164 b 218 c
3 b 57 c 111 b 165 d 219 c
4 a 58 b 112 b 166 d 220 b
5 a 59 a 113 b 167 b 221 c
6 c 60 d 114 c 168 a 222 a
7 a 61 a 115 c 169 b 223 b
8 b 62 b 116 c 170 d 224 b
9 a 63 b 117 c 171 d 225 b
10 b 64 c 118

